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B.Com. (Hons.) DEGREE EXAMINATION, APRIL 2016.
II YEAR — IV SEMESTER
Major Paper XV — SPECIAL ACCOUNTS
Time : 3 hours                                                                                      Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)
Answer ALL the questions.
1. What is Amalgamation?
2. What is Statutory reserve?
3. What is Re-insurance?
4. What do you mean by Double Account System?
5. What is Holding Company?           
6. Raman Ltd., agrees to purchase the business of Krishnan Ltd., on the following terms: 
(a)	For each of the 10,000 share of ` 10 each in Krishnan Ltd. 2 shares in Raman Ltd. of           ` 10 each will be issued at an agreed value of ` 12 per share.  In addition, ` 4 per share cash will be paid.
(b)	8% debentures worth ` 80,000 will be issued to settle the ` 60,000 9% debentures in Krishnan Ltd.
(c)	` 10,000 will be paid towards expenses of winding up.
Calculate the purchase consideration.
7. H Ltd. Purchased 75% of shares in S Ltd. On 1-7-2001.  On 31-12-2001 the balance sheet of S Ltd showed Reserve fund balance on  1-1-2001 ` 40,000.  Profit earned during 2001 ` 60,000 and preliminary expenses unwritten off ` 20,000.  Calculate capital profits and revenue profits. 
8. Compute the amount to be charge to Revenue Account from the following information:
Original cost of an asset			` 15,00,000
Present cost of replacement			` 20,00,000
Amount spent on replacement		` 21,50,000
9. Calculate the net claim to be debited to revenue account of an Insurance Company:
Claims paid for the year ended 31.3.06	 	` 5,75,000
Claims outstanding on 1-4-2005			`     55,000
Claims outstanding on 31-03-2006		`     98,000
Claims covered under reinsurance		`     28,000	
10. From the following details relating to banking company, find out the profit balance carried over to the Balance Sheet.
									     ` 
Interest earned							5,25,000
Other incomes							2,20,440
Interest expended						1,25,000
Operating expenses						1,83,686
Profit brought forward from the previous year        1,00,640
Transfer to statutory reserve at 25%
          					SECTION B — (5 × 5 = 25 marks)
Answer any FIVE Questions
11. What is purchase consideration? Explain the various methods used for calculating purchase consideration.
12. State the various schedules to be prepared by a commercial bank for preparing profit and loss account.
13. A life insurance company gets its valuation made once in every two years.  Its Life Assurance Fund as on 31.03.2006 amounted to ` 63,84,000 before providing ` 64,000 for the shareholders’ dividend for the year 2005-2006.  Its actuarial valuation due on 31.03.2006 disclosed a net liability of ` 60,80,000 under assurance annuity contracts.  An interim bonus of `80,000 was paid to the policy holders during the two years ending 31.03.2006.
 (
[P.T.O.]
)	Prepare a statement showing the amount now available as bonus to policy holders. 
14. On 31st March, 1998 a bank held the following bills, discounted by it earlier:
	Date of bill 1998
	Term of bill (months)
	Discounted @% p.a.
	Amount of bill
(`)

	January, 17
	4
	17
	  7,30,000

	February, 7
	3
	18
	14,60,000

	March,9
	3
	17.5
	  3,64,000


	
     




You are required to calculate the rebate on bills discounted.
15. From the following particulars prepare fire revenue account for the year 2005-2006:
											(` In ‘000)
		Claims paid						      		235
		Legal expenses relating to claims			      	    	    5
		Premiums received					      		600
		Reinsurance premium					     	  	  60
		Commission						     	 	100
		Expenses of management				     	 	150
		Provision against unexpired risk  on 1-4-2005	      	260
		Claims unpaid  on 1-4-2005				        		  20
		Claims unpaid on 31-3-2006				           35
16. From the Balance Sheets given below prepare a Consolidated Balance Sheet of A ltd and its subsidiary company B ltd.
Balance sheets as at 30th June 1994
	 Liabilities
	A Ltd (`)
	B Ltd (`)
	  Assets
	A Ltd (`)
	B Ltd (`)

	Share Capital:
Shares of `10 each
General reserve
Profit & Loss A/c
Trade creditors
	
25,00,000  
  3,60,000
  2,40,000
  3,50,000
	
6,00,000
1,20,000   
1,80,000 
1,00,000

	Land & Buildings
Machinery
Furniture
40,000 shares in 
B Ltd.
Stock
Debtors
Bank balance

	  6,40,000
12,60,000
  1,40,000

  5,00,000
  4,10,000
  3,80,000
  1,20,000
	2,00,000
3,40,000
   60,000

      -
2,50,000
1,00,000
   50,000

	
	34,50,000
	10,00,000
	
	34,50,000
	10,00,000


           At the date of acquisition by A Ltd of its holding of 40,000 shares in B ltd., the latter company had undistributed profits and reserves amounting to `1,00,000, none of which had been distributed since then.
17.	The Indian Gas Company rebuilt their works with double the capacity at a cost of ` 8,00,000.  The cost of the part of old works was `3,50,000.  In working the new works, old materials of     `15,000 was reused and material worth `25,000 was sold away.  The cost of labour and materials are 50% higher now than when the old works were built.  You are required to make necessary calculations and give journal entries.
18.	S Ltd. was taken over by R Ltd. The following position was mutually agreed upon:
				 S Ltd             	R Ltd
	No. of shares			60,000          	90,000
	Face value of shares			`100               	`10
	Net assets		                3,60,00,000     	72,00,000
 Ascertain intrinsic value of the shares, ratio of exchange of shares and number of shares to be issued.

 SECTION C — (2 × 15 = 30 marks)
Q.No. 19 is compulsory and answer any ONE from
 the rest of TWO questions.
19.	From the following Balance Sheets and information, prepare the Consolidated Balance Sheet.
							Balance sheet
			  		 H Ltd.           S Ltd.		                     H Ltd.          S Ltd.
Share Capital:				            		Sundry Assets	     8,00,000         1,20,000     
    (` 10 fully paid)	10,00,000    2,00,000       	Stock		     6,10,000	 2,40,000
P/L Account                  4,00,000    1,20,000    	Debtors		     1,30,000	 1,70,000
Reserve		  	  1,00,000       60,000    	Bills Receivable         10,000	        -
Creditors			  2,00,000     1,20,000   	Shares in S Ltd.,
Bills payable		       ---	      30,000       	15,000 at cost	     1,50,000	        -      
					 17,00,000    5,30,000			   		   17,00,000        5,30,000
(a) All the profits of S Ltd., has been earned since the shares were acquired by H  Ltd.  but there was already a Reserve of `60,000 at that date.
(b) The bills accepted by S Ltd., are all in favour of H Ltd. which has discounted  ` 20,000 of them
(c) Sundry assets of S Ltd., are undervalued by `20,000
(d) The stock of H Ltd, includes `50,000 brought from S Ltd., at a profit of 25% on cost to the latter company.
20. 	The following figures are extracted from the books of Bheema Bank Ltd., as on 31.12.87.
											`
Interest and discount received				          36,95,738
Commission, exchange and brokerage			            2,00,000
Directors fees and allowances					      55,000
Postage and telegrams						               62,313
Stationery							             	      17,625
Preliminary expenses						               15,000
Interest paid on deposits					          20,32,542
Rent received							               55,000
Salaries and allowances					            1,75,000
Rent and taxes paid						               87,973
Profit on sale of investments					   2,00,000
Depreciation on building					               27,375
Audit fees							                	        5,000
Additional information:
(a) A customer to whom a sum of ` 10,00,000 has been advanced has become insolvent.  It is expected that only 50% can be recovered from his private estate.  
(b) For the remaining debts, a provision of ` 1,50,000 was necessary.  
(c) Rebate on bills discounted as on 31.12.86 ` 12,000 and on 31.12.87 ` 16,000
(d) Provide ` 6,50,000 for taxation
(e) Write off preliminary expenses.
 (
[P.T.O.]
)Prepare Profit and loss account in accordance with the law. 
21. 	A Ltd., agreed to acquire the business of B Ltd., as on 31-12-92 on which date the Balance Sheet of B Ltd., was as follows:
        			Liabilities		     		`		     Assets		            	`
Capital (in shares of `10		6,00,000		Goodwill		       	       1,00,000
		       Each)							Land & Buildings	       6,40,000
General Reserve				1,70,000		Stock			       1,68,000
P/L Account				1,10,000		Debtors		          	36,000
6% Debentures				1,00,000		Cash			          	56,000
Creditors			   		   20,000	
			           		       10,00,000				    	              10,00,000
         The considerations payable by A Ltd. was:
(a) A cash payment of `2.50 for every ` 10 share in B Ltd.
(b) The issue of 90,000, `10 shares at an agreed value of `15 per share 
(c) The issue of such an amount of fully paid 5% debentures of A Ltd., at 96% as is sufficient to discharge the 6% debentures of B Ltd., at a premium of 20%.  While computing the consideration, the directors of A Ltd., valued Land and Buildings at `12,00,000, Stock at     `1,42,000 and the debtors at their face value subject to a provision of 5% on debtors against doubtful debts. The expenses of liquidation of `6,000 were paid by A Ltd.  Close the books of B Ltd and give journal entries in the books of A Ltd.
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